Geometry Review 2-7 and 2-8

Name, H,Z/(/n/

Date: ( 1 Period:

Refer to the figure and the given information to find each measure.

1. Given: AC= 39m
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For 3-5, AB=BC.
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2. Given the figure and DG = 60 ft.
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7. Find mZ1if m«ZCUB = 78. 8. Find m~/2 if m/WHI = 160.
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9. m£TRI = 3x — 5, mZIRB =x + 27,
and m_é)TRB = 86.

Does R1 bisect ZTRB?
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11) Zland £2 are complemenfqry mzl = 2x +7 and m£2 = 4x - 19. Find the measure of each angle.
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12) 43 and Z4 are supplemen‘rary m£3 = Bx + 22 and m£4 = 7x + 2. Find the measure of each
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